MA 114H — Calculus 11 Fall 2014 Multiple Choice Answers
Sections 009-010
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¢ No books or notes may be used.
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. not wear ear-plugs durmg the exam. Mo | 20,

¢ You may use a calculator, ‘but not one Whlch ) L
has symbolic manipulation capab1ht1es or R 6y =
a QWERTY keyboard. - , . e 6 16

e Additional blank sheets for scratch Work — -~
are available upon request ' ' 7. 16

¢ Multiple Choice Questmns _ - 8 BT RS

- Record your answers on the rl_ght_of this ... T .

- cover page by marking the box correspond- 9 216
ing to the correct answer. ' ) .' Total o 100

¢ Free Response Questlons
Show all your work on the page of the prob- : -
lem. Clearly indicate your answer and the - ‘
reasoning used to arrive at that answer: -

Unsupported answers for the free response questions might not receive credit!




Record the correct answer to the foliowing problems on the front page of this exam.

1. (5 points) The power series of the function

about ¢ =0 is:
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2. (5 points) Let C > 1 be a fixed number. Which _df_th_e following answers i§ true for the
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A. 1\ The series is divergent. Lo T

B.  The series is .absolutely‘éonvergent;. o .
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C.  The series is convergent, but np{tf absolutely convergent.

D.  The series is absolutely convergent, but not convergent.’

E.  Noune of the above.
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Record the correct answer to the following problems on the front page of this exam.
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3. (5 points) Which of the following aq;e true for a series Z an? Ghedraﬂ—thaﬁ:—-&ppl-y

A. If the series is convergent, then it is also absolutely convergent. Fq[ <,

B. If lim a, =0, then the series converges
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@ If lim @, # 0, then the series diverges. T-r ve
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D.  If the series is alternating, then it is convergent.

E.  None of the above. Fai S¢

4. (5 points) Evaluate the series 223 =

n,:()-.

A.  The series is 'diver'gent.

B. i 277 = 6.
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Free Response Questions: Show your work!

5.

(16 points) Prove that the limit of the following sequence exists:
. 3n?
Clearly state the limit and present the proof using the e definition.
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Free Response Questions: Show your work!

6. (16 points) Use the Principle of Induction to prove the power law of differentiation for

all positive powers n > 1:
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Free Response Questions: Show your work!

(16 points total) Determine whether the following series converges or diverges. Make

7.
sure to state all tests that you use. .
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Free Response Questions: Show your work!
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(16 points) Determine whether the series E ( \3/_) is absolutely convergent, condition-
T
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ally convergent or divergent. Make sure to state all tests that you use.
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Free Reéponse Quesﬁidns: Show your work!

9.

(16 points total) Consider the power series Z

—nl/%n(:c —6)".
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(a) (8 points) Find the radius of convergence. J
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(b) (8 points) Determine the behawor of the power series at the endpomts of the interval

of convergence.
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